ORI

A

2 ()% T

o ‘ xx2 - -
U+ H’-) \ TME 4 X2
)

bg x (L + X = 2-2
T 6 £¥ 32 i3
B 2 LD 2273 =12
- B 2 X
3)(’ \)1+ \./6/



e [X _ L 4 xX\2H LCY

y . 8:2 -4 L
y
Hox . M1 PE Lep=2:3-2-22 24
VKT vy v &
ix= 4 + 31
—3x _}
X=H

L. 3 \10x

C v = —_— = —

- (X 5 2x> l
Whn Herd's 4 verichle denominsto stnfe .
WL\ﬂ\+ X C&h",’ be.. Tl/\l'C bQC()M'S A ~(£$4’Y0.C+70/\'

XZ 0
Lep: X = X
5 = -5
Jx =~ &
x-52 = 10X
2 5
L(')')('l:g_)\.—\- .(._i-‘\_'_D_*
L . A x|
0= Ix + 15
-1 - §

|
2%
P2



5 1 1 A )
U?(Zx' 19 ;) 7«)‘7’3"8’(

13 s - 1gx 17 _Tigx A
| 2x \ 4 “.‘9

45 = 17x— 6

+6 + 6

S = Ik

m 7
X=5

A
B - S -6X sz_qx -w:o
2-k+2 70 G- 2171 (x-2) =0
(2x-\)(x’2)20 (2x-1) (-2)
2x-1=0 x-2=0
Ix=\ X=2L








